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Fill the gaps

Use each word: bigger, smaller, heavier, lighter

A balloon is than a tennis ball. 4

A balloon is than a tennis ball. .
A tennis ball is than a balloon.

A tennis ball is than a balloon.

Fill the gaps
Use each word: shorter, taller, lighter, heavier ¥ m
|

A giraffe is and than an elephant.

An elephant is and than a giraffe.

Fill the gaps

A is smaller and lighter than a

A is bigger and lighter than a
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Read the picture
Which rectangle is bigger?

Read the picture

The line is longer.

red/blue
W The ine is shorter.

Which answer?

'E.r ol o o o 9 pencil crayon?
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